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Instructions: This Question Paper contains 12 questions. All Questions are Compulsory.
Answer the following questions as directed: (Each question carries 1 mark) 4 Marks
Q-1 Fill in the blanks with suitable word:
If the weight of a body is 6 N on the moon, it will be about..........................on the earth.
Q-2 The value of acceleration due to gravity

(a) is same on equator and poles (b) is least on poles

(c) is least on equator (d) increases from pole to equator

Q-3 Choose the right answer:

Which one is an oil yielding plant among the following?

(a) Lentil (b) Sunflower (c) Cauliflower (d) Hibiscus

Q-4 Find out the correct sentence:
(i) Hybridization means crossing between genetically dissimilar plants
(ii) Cross between two varieties is called as inter specific hybridization
(iii) Introducing genes of desired character in to a plant gives genetically modified crop
(iv) Cross between plants of two species is called as inter varietal hybridization
(@) (i) = (i) (b) (i )z1a (iv) (c) (i )ziat (iii) (d) (iii Jat (iv)
Answer the questions point wise: (Each question carries 2 mark) 8 Marks

Q-5 Give Scientific reasons: Why the weight of an object at the equator is less than at the

poles?



Q-6 What are the differences between the mass of an object and its weight?
Q-7 Why is excess use of fertilizers detrimental for environment?

Q-8 What is a Genetically Modified Crops (GMCs)? Name any one such crop which is
grown in India.
Section-C
Answer the Following questions as required: (Each question of 3 marks) 9
Marks

Q-9 What is Acceleration due to Gravity? Explain formula of relation between g & G and
find the value of g.
Q-10 What are weeds? Give the examples of weeds, need to control them and methods
to control them.
Q-11 Figure below shows the two crop fields (Plot A and Plot B) have been treated by
manures and chemical fertilizers respectively. Keeping other environmental factors same.

Observe the graph and answer the following questions:

(i) Why does the plot B show sudden increases and then gradual decrease in yield?
(i)  Why is the highest peak in a plot A graph slightly delayed?

(i)  What is the reason for the different pattern of the two graphs?
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Section-D
Answer the Following question 4 Marks

Q-12 Explain the universal law of gravity and its calculated form as well as the value of G.




